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PAPER -1

This paper consists of Sixty (60) multiple-choice type of questions, out of which the

candidate would be required to answer any Fifty (50) questions. In the event of

candidate attempting more than Fifty (50) questions, the first Fifty (50) questions
attempted by the Candidate would be evaluated. 50 Q x 2 M = 100 Marks

|: 1

Greater the handicap of the students coming to the educational institutions, greater the

demand on the :

(1) Family (2)  Society (3) Teacher (4) [ State F

¥
What are the characteristics of Continuous and Comprehensive Evaluation ?

(a) It increases the workload on students by taking multiple fests. (
(b) It replaces marks with grades. /,/ -
(c) It evaluates every aspect of the studentl.l,Jlr | I'
(d) It helps in reducing examination phobia.

Select the correct answer from the codes given belo;
(1) (), (b), (c) and (d) (2) (b)andd)
(3) (), (b) and (0 L o) @ §d @

<
Which of the following attribuites denote great strengths of a teacher ?

J
F
Fd

(a) Full-time active involvement in the institutional management
(b)  Setting examples

(c) Willingness to }Sut a;Fumptions to the test

(d) Acknowledging mistakes

Select the corregt answer from the codes given below :

A1) (@) (b andvfd) \ (2)  (b), (c) and (d)

(3) (a) (c) and [d) | 4) (@) (b), (c) and (d)

Which one of the following statements is correct in the context of multiple - choice type

questions ?

(1)I'n They are more objective than true-false type questions.

(2) y They are less objective than essay type questions.

(3) "l:—hey are more subjective than short-answer type questions.

(4) They are more subjective than true-false type questions.

N
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e 39 YH-UF ° WIS (60) 9g-Tawedia yw €, N @ Suiear i fRE ot weme (50) W9 # SR
T B IEHIGIR R UemE (50) W S1fYe YAl @1 SW o9 W SHICER g fed T wew
T (50) A1 1 Hediehd fohal SR | 50 U9 x 2 3Tk = 100 37k

1. Siefors Seeml § ST aTet B @l fSa aneme ST, At S1fies sTae
(1) dvREREEMI  (2) wWASHEMI (3) RemwFE (4) w9 3 A | .
I r

2. Hdd U4 SATIH eIk hi foRIoae -1 € ?
(a) %Wﬁmﬁ%wﬁ%wﬁwﬁq@w% '*
(b) IT UTAiehl ol I § Ffaeenfad i B - %,

-

(c) 9% BT % YT Tgq] 1 Hodioh Hhdl ¢ | f/‘"’
(d) %qﬁw%aaﬁwmﬁﬁmw%l \
= feu MU e I WE W FH T HIC ' ‘

(1) (a), (b), () 3R (d) ZbWM g
(3) (a), (b) FR () aﬁ)@ (d)

3 wwmmﬁﬁmm@wﬁ%mmﬁwmmﬁmwmﬁa
(a) TN YaEd | quiehticten Hisha dfered
(b)  3<TELUT T Ll
() ereTomsH % e  ferg e e
(d) TAfTE I EETHRR R

= fou MU F2 § FE W F1 T HIC
/ Fu @ () () R ()
3) (), () IR (d) 4) (@), (b), (o) &R (d)

4. frAfafed § 9 HF-91 FoF 9g-faswcy TR & el & Hed § u@ 72
(1), o FE-Td AT T o § A TS e € |
(2) ¥ 3 frey At el T gET H wH TS B 2
(3) A THY-IW A A B g § Ak RS B ¥
(4) 9 HE-TIord 9T WA R g o eifie sAfaiss g ©

eoo | MUV

w
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5.  As Chairman of an independent commission on education, Jacques Delors report to UNESCO
was titled :

1) International Commission on Education Report

2)  Millennium Development Report

4

(1)

(2)

(3) Learning : The Treasure Within

(4) World Declaration on Education for All

6.  What are required for good teaching ? f f
(a) Diagnosis . 4
(b) Remedy W { "; -
(c) Direction / \ . |
(d) Feedback f \ ’I
Select the correct answer from the codes g1ven belo%
(1) (@), (b), (c) and (d) and(’
(3) (), (0 and (d) @ (©and|
<
| Y
7. Which of the following statéfents is not true in the context of participatory research ?
(1) It recognizes knowlgdge as power.
(2) It emphasises on people as experts.
(3) Itisa cglléctive process of enquiry.
(4) Its sole p:;:posg is production of knowledge.

8.  Which of the following statements is true in the context of the testing of a hypothesis ?

(1) Itis only tLe alternative hypothesis, that can be tested.

(Z)III' J It is only the null hypothesis, that can be tested.

(3)  Both, the alternative and the null hypotheses can be tested.
(4) Both, the alternative and the null hypotheses cannot be tested.

eao ANV VARS

=
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5. e & &9 § T WG AR & A8 F ®9 H ISR & TG F T iy feard & U @
S o

(1) STIAS HiHYH 31 ThIE R

2) frafaw Saaude fe

)
(G) @ftT: g e fafe
(4) T feRiA I ThTH HR AT
6. 3= fareror & fow sn-=m—m emafera €2 {
(a) fem
(b) IR e e r
(© fRw A 5
() e [
e fow T T ¥ TE S = HIC i \ '
1) (@) b) © 3% @) @) (@ 3R @),
3) (b), (©) ¥ (d) < ; @ (R {d>
Ve
7. Trefafed § @ 0-9 woA Feur STIEuH & Hed § 9t @ €7
(1) = I I Wi < T H Te=a |
() T e = fore e S
(3) %Wﬁwwm%
)

2

SHET Q%Hlesagq M 1 3R B

8. Tr=fafed § @ ®H-91 weq Tt qfteredn & Temr & Ted § |ar g ?

(1) I %had SehTeeh UReHeT ¥, TSTaenT Theor fFaT ST e €1
|

(2)\, T FaA T IR 8, TR Tharr fohan S wehe B |
(3)  derfeush TE T ST UReheuHIe T uieror fhan ST Hehd T |

(4) Shfeus Td T SHI UReeue #1 gierr TEi fhan S wehdr 2|

eoo | MUV
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10.

11.

12.

eao ANV VARS

Which of the following are the basic rules of APA style of referencing format ?
(a) Italicize titles of shorter works such as journal articles or essays

(b) Invert authors’ names (last name first)

(c) Italicize titles of longer works such as books and journals

(d) Alphabetically index reference list

Select the correct answer from the codes given below : , ."/ :
(1) (a) and (b) (2) (b (c) and (d) { f
(3) (9)and (d) 4) (@) (b), (c) and (d) 4
F ks
1 f
*
Which of the following are the characteristics /!)f'a seminar ?
|
/ , |
(a) Itis a form of academic instruction. | _."I

(b) It involves questioning, discussion and debateg. Jj

.!"'

-

(c) Itinvolves large groups of indi;‘iduals. {
%

(d) It needs involvement of skiledfpersons.
. <

Select the correct answer from tile codes given below :

(1) (Gand () L, & (2)  (b) and (d)
3 ®) ©and (@ ( (4) (), (b) and (d)
‘4

area. What tool should he prefer for the study ?

.+ A researcher is i(.%erested in studying the prospects of a particular political party in an urban

(1) Rating scale (2) Interview (3) Questionnaire (4) Schedule
I

Etﬁu’cal norms in research do not involve guidelines for :

(1) Thesis format (2) Copyright
(3) Patenting policy (4) Data sharing policies
6
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10.

11.

12.

eoo | MUV

frefafed 8 § - TR.U et & Hef yey & goryd fom 872
(a) B HiqAl S SHA @ A ey, & v fower sk foad
(b) EHI & TH I Hlh ford (Afad T8 T8d)

(c) oI FHaal S YwIF TS S, % M fweT wek fad
(d) Heo gt wfafte =1 quigsa § g &

= fou 7T Fe & FE I H = FWC L
1) (a) 3R (b) @  (®) © 3 () '
(3) () ¥R (d) 4) (@), (b), (o) &R (@

-

ﬁmﬁf@aﬁﬁﬁ?—ﬁ?wmﬁ%@lﬁ@é
(a) UE T STRGIHF STIIA H THR T | ;J _
(b) THH WA FHIAI, 9 & ae-foare e ¥ \dj ,
() T R % S e el A "
(d) wﬁﬁwwﬁﬁﬁﬁ@ﬁﬁwﬁ%l

WWW@@WWWEHW:

O OFRE < 4 (2) (b) ¥R (d)

3) (b), (@3 (d) * | 4)  (a), (b) &R (d)

‘4
T SATETTRAl [l Tl & H Toh Torifaen <ot oo 1 Gurerell % e 7 g ¢ 3
{ aw%m%ﬁ SR ot =ey ?

1) ﬁakmnmf—ﬁ (2) HETEHRR (3) g (4)  STIEEN
' |
s 3 & forersp form v ¥ s waieh T 3 ety Wi A 2

(1) o ey (2) TEATHR (HTARIEE)
(3) e Hifa (4) =T IR i
7 P.T.O.
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Read the following passage carefully and answer question numbers 13 to 17.

I did that thing recently where you have to sign a big card - which is a horror unto itself,
especially as the keeper of the Big Card was leaning over me at the time. Suddenly I was on the
spot, a rabbit in the headlights, torn between doing a fun message or some sort of in-joke or a
drawing. Instead overwhelmed by the myriad options available to me, I decided to just write :
“Good luck, best, Joel”.

It was then that I realised, to my horror, that I had forgotten how to write. My entire'existence
is “tap letters into computer”. My shopping lists are hidden in the notes function of my#phone. If
I need to remember something I send an e-mail to myself. A pen is something I chew when I'm
struggling to think. Paper is something I pile beneath my laptop to make it aymore Con)fortable
height for me to type on. -

A poll of 1,000 teens by the stationers, Bic found that one in 10 don’t ownlra pen, a third have
never written a letter, and half of 13 to 19 years - old have never been forced to sit down and write
a thank you letter. More than 80% have never written a love letter, 56%: don’t havedetter paper at
home. And a quarter have never known the unique torture of writinlg a birthday card. The most
a teen ever has to use a pen is on an exam paper. 5

Bic, have you heard of mobile phones ? ﬁ:;ve you| heard of e-mail, facebook and
snap chatting ? This is the future. Pens are dead. ;i’aper is dead Handwriting is a relic.

“Handwriting is one of the most creative gutlets We have and should be given the same
importance as other art forms such as sketching, paintin ?Jphotography

Answer the following questions : % { e

e

13.  When confronted with signing-a, big card, the author felt like “a rabbit in the headlight”.
What does this phrase mean [ f <

(1) A state of confusion == (2) A state of pleasure
(3) A state of anxiety (4) A state of pain

il -
14. According to the author, thich one is not the most creative outlet of pursuit ?
(1) Handw;igng (2) Photography
(8)  Sketching | (4) Reading
15. The entire existence of the author revolves round :

(a) .. Computer

(b) Mobile phone

(C)I". Typewriter

Iderﬁl‘ify the correct answer from the codes given below :

(1) (b) only () (a) and (b) only
(3) (a), (b) and (c (4) (b) and (c) only
e-o [ HIHIAN H\|”H||!||H\||! ;

www.examrace.com



FrAfataa = &t WauYdes Ufeq 3 13 ¥ 17 G % Y9l & 30T ST

A & H HY I8t fHA1 SRl AU U oS H1E W FEER FH B © SR I8 19 379 319 H TH
g €, favrae Sefer 36 o2 IS F1 R B SR 1 ol o1 | H orares vE feufa # o, 99 ewrdiv #
Teh TN A1 faAicqul Harg 99 3127el $9-S1eh AU TR o o9 U i fearfd | 39 a9 3qetsy
3k fasredl 9 sifiyg St §7 92 faem &1 fofg fowan « e @, i ©, Siea |

wfia g st HY Hegw foran for & @ faem & @ T g1 A0 @ saw-u o § F TR W
TR I gansil 1" TR ¥ A4 G @ WA % e gl § fodt ¥1 afe g3 i 9 w3 @-—dﬂqwmm
Tl €, 9 H ST 39 H E-AA I A | 5§ FS Te- ﬁlﬂﬂﬁ‘@fﬂﬁfaﬂw@mg?ﬁﬁaw SHeTH =S
T | B FS 78 e W § 58 F ueia & o whfd F3dr § qifer h 2 s @dlsﬁiﬁﬁaﬁw
gﬁw@ml |

e fasharsti g0 1,000 fRIIR Seteni o Teem |, Wﬁwﬁmloﬁﬁwﬁ@'{%
T AU FAT T €, TH ¥ W AR A @ FHoft o 72 o ® 13@19aﬁ%maﬁéa‘eﬂ1€rﬁsﬂﬁ
I et oft e 7 fopen mn fF 3 93 AR e W v fad | w/ﬁmﬁsﬁﬁﬁ?ﬁwﬁ%ﬁﬁﬁﬂ
T3 &l forn, 56% & TR W U HT S T8 g1 Y & H‘T?A‘lﬁ,ﬁlﬁ?ﬁwwqd%ws ferg i STRE
STEHA ohi ohlg SRR & T2 83 | ﬁ%@ﬁ%aﬁ' ﬁ%ﬁ'{aﬁqﬁmlﬁ%‘wuﬁwqwmlﬁaﬁa‘é
ok odeT 99 T3 &1 S faed 7

EED El?:ngHleF‘lﬂulcusmqﬁ?ao‘aﬁﬁg:n%? I Ae, g R T9 9fT & TR § gl
2?7 =€) wfas § | weTH 1 ST WA SIS 1 SHMT T 9 Fa9Y T T T

TR T SO AT T SIS € e T Xatas (SR, Faae steran el
St el % o1 T D A T HEed e S =t |

< f
FrfafEa woet o Sue g Vs <

13. @a@qﬁlsq'{swlm%uﬁmaﬁ @ i@k ol 3T | forelt oy’ S A9 gIT 1 3H
TS T HA A 72

(1) SogH =i feafa o L (2) W i feufa
(¢) SR (4) e feafd
14. T@F & ag«;g#ﬁw?«ﬁqq T O ®F IR Hi GAferw qoireas Afeafa @ § ?
(1) TEAEd (2) HRTE
[ (3) e = () (4)
15. &G H HY0 wEl % T8-T1R T 2
@ T |
(b) HaEd ®H
(o) _W
T2 fd T Fe ¥ W SR F = I
(1) F (o) (2) FA (a) SR (b)
(3) (a), (b) 3R (o) (4) FA (b) H ()
eo [ AN ALACDAR) ) Pr.O.
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16.

17.

18.

19.

20.

21.

22,

H||H\||H||“||H\||!|\II\IHH

How many teens, as per the Bic survey, do not own a pen ?

(1) 800 2) 560 (3) 500 4) 100

What is the main concern of the author ?
(1) That the teens use social networks for communication.

2) That the teens use mobile phones.

Ty

()
(3) That the teens use computer.
(4)

4) That the teens have forgotten the art of handwriting. {
Ip' [

The main objectives of student evaluation of teachers are : ¢

(a) To gather information about student weaknesses. 727 ;

(b) To make teachers take teaching seriously. , ¥ (

*
() To help teachers adopt innovative methods of teaching
(d) To identify the areas of further 1rnprovément in tea}cher traits.
Identify the correct answer from the codes glven be
(1) (a) and (b) only afd only
(3) (@), (b) and (c) only 4 ‘«.(4) ( onlyr

{

Using the central point of the Chaasrod'om communication as the beginning of a dynamic pattern
of ideas is referred to as : -

(1) Systemisation (2) Problem - orientation

(3) Idea protocol ("~ (4) Mind mapping
|

Aspects of the xoice, other than the speech are known as :

. (I)  Physical language (2) Personal language

(3) Para langufge (4) Delivery language

Every type of communication is affected by its :
(1% Reception (2) Transmission  (3) Non-regulation (4) Context

vy
Attitudes, actions and appearances in the context of classroom communication are considered

as

Verbal Non-verbal (3) Impersonal (4) Irrational

—
(=]
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16. foas & wdem & o ER, forda fosiki & 99 w15 Fad & €2
(1) 800 2) 560 (3) 500 (4) 100

17. o@® & g Aa #=n g ?
(1) for fReiR Tom g wmIfSies Feaeh 1 ST Y € |
2) f& fReR HemEd ®F H1 ST FQ T |
(3) fF fReiR e &1 W w3 ) y
(4) T fFoR Teeed &1 &l 4a T 2| "(r'

18. foenfeli g foremhi & qoaisd & T&F WA R ¢
(a) ferenfe=i =t AT & o H SHHR THT w41
(b) o 1 foen o e % i B
(©) mmﬁﬂﬁ?ﬁfwwﬁﬁm&mﬁﬂmmr
(d) mw%@ﬁﬁxﬁwgm%%ﬁfﬁrw‘mml

2 el T Fe A W IR Fw F R ‘,/
(1) et (a) 3R (b) e FI (b)) (d)
(3) I (a), (b) 3 () < ( @ F <a(
: <
19, et 35 her S ) o o T e < < S Fog 35 9 7 T T 2
(1) e ! (2) FHE-IHEHR
(3) foem uRmhe | J{ (4) Hfs e
20. =it 35 3T S 37 T ST T
S (1) wrif s e o (2) dafeas v & €9 H
" 3) WW%%ﬁ (4) TR W % w9 H

21. WWWWQW'@W%:
(1) SR § 2) FERUH @) W-fafmma @) dHed«

22. el WIN0 & Heo H wAgied, Hral v yehed #1 fod w9 § Hwen S § 2
(1) wfs® (2) SN OIEERIESED (4) oTETE

eoo | MUV EAE

—
—
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23.

24.

25.

26.

27.

28.

29.

30."

31.

eao ANV VARS

Most often, the teacher - student communication is :
(1) Spurious (2)  Critical (3) Utilitarian (4) Confrontational

In a classroom, a communicator’s trust level is determined by :
(1) the use of hyperbole (2)  the change of voice level
(3) the use of abstract concepts (4) eye contact

Ty

The next term in the series

2,5,10,17,26,37, __ 2 _is: 'f; )
(1) 50 (2) 57 3) 62 4) { fa’s r
1 Y
A group of 210 students appeared in some test. The mean of —rd of students’is found to be

60. The mean of the remaining students is found to be 78, The mean bf the whole group will
be : -
(1) 80 (2) 76 ,(;)( 74 |' 4) 72

Anil after travelling 6 km towards East from his hi\, reahzed that he has travelled in a
wrong direction. He turned and travelled 12 km to fg ds West, turned right and travelled
8 km to reach his office. The straight distance of the office from his house is :

(1) 20 km (2) 14 km % ¢ (3) 14’km (4) 10 km
 {

The next term in the series : \ q

B2E, D5H, F12K, H27N, Q- 'tis d

(1) J561 (2) I62Q (3) Q62] (4) J58Q

i,

A party was held in Ii:whic]‘]: a grandmother, father, mother, four sons, their wives and one
son and two daughters to each of the sons were present. The number of females present in
the party is: . |
1) 12. 4 2) 14 (3) 18 4) 24

-‘l |
P and Q are brotflersl.' R and S are sisters. The son of P is brother of S. Q is related to R
as :
(1) _Son - (2) Brother (3) Uncle (4) Father

|
Copsider the argument given below :

‘Pre# employment testing of teachers is quite fair because doctors, architects and engineers
whorare now employed had to face such a testing.’

What type of argument it is ?
(1) Deductive (2) Analogical (3) Psychological (4) Biological

—
N
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23. fonerw- YW A SR
(1)  STymIoTR 2) fae=ATHS (3) SuIfTATETRT (4) wfayras®

24. He H TH WY o1 fovary X fuif@ e g :

(1) rfaerifa & 99 9 (2) STET X ¥ ufedT 9
(3) 3TYd STEURUNSA! & FAN § 4) R e @

25. T ST ®I ST G F1 SRl 2 :
2,5,10,17, 26,37, __2 { )
(1) 50 (2) 57 (3) 62 (4) | 79

26. 210 B 1 T T faret wan § wnfiret gam %EBWWWW60®W%I 91 e =B A 78

R 1 € | e WU TR kT HIET 1 20 2 K{r p |
Y s |

(1) 80 @) 76 4) 72

/ | I
27. ﬁﬁﬁﬁmmﬁq@ﬁﬁwﬁ6ﬁﬁ.ﬁaﬁlw ﬁ?ajla'q_‘é'H'éﬁi\Hrchmﬁde*Mdmﬂﬁ
T T & T T 99" g IR afvem w6t few # 12 ﬁﬁ@mﬁwaﬂtwm
FHEd Tge & w8 foh. o, 1 o 7 FT 1 3H RV A F T Heh g fopat 72
(1) 20 fF.A. 2) 14 1%5.14}?* L0 12_f o7, 4) 10 A

"M{

28. TH S F S 9 LN |
B2E, D5H, F12K, H27N, %
1) 56l @) 162Q () Q62 @) J58Q

29, o T e W o A, fo, W R g, S R o S T % T T wE A
i Sufterd 9 1wt # sufeera wfeenied i we fohai @ 2
s 12. 4 2) 14 3) 18 @) 24

30.'; P 3R Q Wk T Rfaﬁf"sa%'ﬁr%ﬂ PHI TASH UE 1 QHFTR Y Hdl Helel §?
@ T @ W (3) == (4) foan

31. 1 R e o R foEw
‘ﬂ‘lf&ﬂﬁ &1 ISR qd TlreT foegpa 3faa € Hiife fafhashl, aRgeiil ta sifvam=aret, s 59 99
7 €, 1 TR Te0T 1 HEAT T T2
7% e TR 1 T §?
IRUCEICED 2) UETIHAS (3) TS (4) Sifa®

1)
eoo | MUV EAE 1 Pt
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32. Among the following propositions two are related in such a way that they can both be true
although they cannot both be false. Which are those propositions ? Select the correct code.

Propositions :
(a) Some priests are cunning.
(b) No priest is cunning.

(c) All priests are cunning.

Ty

(d) Some priests are not cunning. y

Codes : {
(1) (a) and (b) (2)  (¢) and (d) (3) (a) and () (4) f (a) and (d)

L

[

r

33. A Cluster of propositions with a structure that exhibits some inference is called :
(1)  An inference (2) Anprargument

(3) An explanation 4) ..*"IA valid argument
r' I ,-'I
34. Consider the following assertion (A) and reason\ﬁ and select the correct code given
below : £

r
F
-

(A) : No man is perfect. X (
(R) : Some men are not perfect™ J‘r I

Both (A) and (R) are t1_‘1_1£ but (R) does not provide sufficient reason for (A).

(A) is true but (P) is“false.

)
(2) Both (A) and (R) are true and (R) provides sufficient reason for (A).
)
) (A) is false but (R) is {true.

‘4
35. , A definition thaLFasla meaning that is deliberately assigned to some symbol is called :

(1) Lexical " (2) Precising (3) Stipulative (4) Persuasive

36. If the proposition “No men are honest’ is taken to be false which of the following proposition/
prﬁ)positions can be claimed certainly to be true ?

ProQositions 3

(1) All men are honest (2) Some men are honest
(3) Some men are not honest (4) No honest person is man
eao | NNV RN 1
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32. frefafgd qehemel | <1 39 aiE @ Hefyd € fo 9 SHi 93l 81 Gehd & I919 9 1 TToTd 78l 8 Tehd |
d TehaTa hiTY © 7 Fel Fe 1 IIT FISC |

qehdTeT :

) T T Ed T

(b) IS TR ¢ T e |

) |t o od B 2| P

d) TS IR d TR e 2| L

(1) (a) 3 (b) (2 (o) ¥R (d) 3) (@) R (o) 4)  (a) ¥ (d)

33. HIEAETG GehaTHEl w1 WS, S §S TR Yefid Al & e %{: .i
(1) T fropd 2) }g%rae% "I
(3) UF T (4) [ 39 )

34, ﬁwﬁf@awﬁmmmaﬁw&mmﬁwﬁmaﬁx&m@@wwmww:
(A) : 1 aTeh e & Y  sadd
(R) : T 3TSH Ui 1 € | | ﬁiﬁr j

(A) 3R (R) THI T %“T{_‘-ﬁ (R), (A) % ToTq e qeh Feqa &l et 2 |

(A) 3R (R) I T € 1R (R), (A) & forw o qeh Jeqd a1 7 |

(A) T %, mfgr,‘((R) A 2

(A)mf%,m(m{zm%

‘4
35. Aol gk fSTg Wie- el £ Feishi & ferg ffdse feranm s T heAMI T :

L aﬁm—w%rmf V(2 @ (3) waffifa ufem (4)  wemEEw
36. ATAHaT FIE BTCH THFER T ¥ o Terd W ST & A FreAfatad qdarr/ adart § 9 f5
ﬁw?awﬁrm wEl %“% EARCINER IS E T
Hﬂ@iﬁl B
(1) @t et SoMeR ¥ (2) TS SEH IAMER 2 |
() TS CH THMIR 7 & | (4) I SHMCR =Afd STeHt &l
eoo [ [HLMIRIHNIAN] i 2
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Given below in the table is the decadal data of Population and Electrical Power Production of
a country.

Year Population (million) Electrical Power Production (GW)*
1951 20 10
1961 21 20
1971 24 25
1981 27 40 s
1991 30 50 -
2001 32 80
2011 35 100
*1 GW =1000 million watt

-

Based on the above table, answer the questions fmm Sl. No 137 to 42.

37. Which decade registered the maximum growth rate (%) of population ?
(1) 1961-71 (2) 1971-81 }9 -2001 (4) 2001-2011
38. Average decadal growth rate (%) of Ropulatlon is : r "y
(1 ~12.21% (2) ~9.82% 3) ~16.73% 4) ~5%
</
39. Based on the average decadallgiowfh rate, what will be the population in the year 2021 ?
(1) 40.34 million  (2) 3849 million  (3) 37.28 million  (4) 36.62 million

40. In the year 1951, what was the power availability per person ?
(1) 100 W ") {200 W (3) 400 W (4) 500 W

41, In which decade, the average power availability per person was maximum ?
S (1) 1981-1991 = (2) 1991-2001 (3) 2001-2011 (4) 1971-1981

42. By what percentage (%) the power production increased from 1951 to 2011 ?

(1) 100% - (2) 300% (3) 600% (4) 900%

|

43. NMEICT stands for :

(1)Ik 4 National Mission on Education through ICT

(2) = National Mission on E-governance through ICT

(3) National Mission on E-commerce through ICT

National Mission on E-learning through ICT

H||!H||H||H||!H||!|\II\IHHIIIHI\|!||!I\I!|\|!H||!||!H||!||!|\|!HII!HII!IHHH!
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Frfafaa arfeent ® 29T &t STTeTel 3 foeI ScaTeT & E9TehTa 3tiehg feu T €1

EL STl (fhferaa 7) forga scure (it are) *
1951 20 10
1961 21 20
1971 24 25
1981 27 40
1991 30 50
2001 32 80
2011 35 100
* 1 7 g = 1000 fufera= e

SURt AIfeTeRT % SMER WX U9 WA 37 & 42 % o it

37.
38.

39.
40.

41.
42.

43.

eoo | MUV EAE

AT 1 Feriten gig < (%) e <9 | ‘é!:;f TS 2

1) 1961-71 (2) 1971-81 e \991_-12001
SATeTET St ST T gl W (%) FR?
1) ~1221% (2) ~9.82%¢ (3) ~'6.73%

k!

ﬁwwmq@a%wwm%ﬁ@mﬁmmﬁﬁ?

(1) 4034 fafa=a  (2) _§§.49fcr%m=r (3) 37.28 Taferaq

T¥ 1951 ¥, 9fq AfF-faga a1 Sqereuar fohat of ?
(1) 100 == {2 (200 A (3) 400 ==

fore T §, gf oAt fome it el Soeredr Taifas ot ?

(1) 1981-1991 2) 1991-2001 (3) 2001-2011

' aﬁ1951©20114aﬂ%ﬁmﬁmﬁﬁgﬁwmﬁq&;§s‘%?

1) 100% 2) 300% 3) 600%

T L3S A B oref R

(1), e e S ToeheE g g A
(2) el T o §-ee g o .
(3) e foem o7 - g ot |,
4) e faed offq -afin o s e

—
N

(4)

4)

2001-2011

~ 5%

36.62 faferaH

500 dre

1971-1981

900 %

P.T.O.
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44. Which of the following is an instant messaging application ?
(a) WhatsApp
(b) Google Talk

(c) Viber
Select the correct answer from the codes given below :
(1) (a) and (b) only (2) (b) and (c) only pe
(3) (a) only (4) (@), (b) and (©) HK
45. In a Computer a byte generally consists of : _ f :
(1) 4 bits (2) 8hits (3) 16 bits (4) 10 bits
s N { ¢ |
46. Which of the following is not an input device ? 4" - ;
(1) Microphone (2) Keyboard J 3) I]oystilglzk (4) Monitor
.-r. /
47. Which of the following is an open source software ?‘
(1) MS Word (2) Windows. £
(3) Mozilla Firefox . “4) Acroba{ Reader
. )
48. Which of the following enables 1115 to send the same letter to different persons in MS Word ?
(1) Mail join : (2), Mail copy (3) Mail insert (4) Mail merge

-

'i

49. Inside rural homes, the sodrce /sources of Nitrogen Oxide Pollution may be :
(a) Unventecggas stoves

(b) Wood stove

(c) Kerosene h aters

Choose the correct code :

(1) (a) and (b).i only (2) (b) and (c) only
() (b) only (4) (@) (b) and (o)
v
50.  Whichfof the following pollutants can cause cancer in humans ?
(1) Pesticides (2) Mercury (3) Lead (4) Ozone
oo |(NNAEAURRNRETN 1
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44. Tr=fafed # @ $F T 39 TAGT TRy 82

(a) =T
(b) T AR
(c) dmER
= fIT 7T e § | W I H 99T FIWC
(1) a9 (a) ¥ (b) (2) F (b) ¥ () H_
(3) A (a) 4) (@), (b) R (c) i .
[
45. TH FFR § T& a3 H FH=Ia: ind 2 §
(1) 4 o= 2) 8faem () 16fr@m < ‘@) 10faem
46. ﬁmﬁ@aﬁﬁaﬁqm(w)m@ﬁ%?/' ’
(1) TIEHIBH Q) HEE 3) wifafeses (4) TR
47. fretffan § 4 % i O TR R V
(1) wATETE @ few .
(3) HIfSToeT FRTHFT ;‘ @) Qﬁ@'{‘\‘{@'{
.1"‘4__
48. Froates § 4 2 o TF @ TR A TR, 7§ faf sxter 31 e Tl a2
(1) ¥d Sard ). ¥a = (3) T 3 (4) WS TS
¢ -
49. T SR H, IS ATRIEE TSIV H1/ % B € Fehall ¥/ Tk § :
() ¥ o 1 gfaefe 1 e
() THRE TR,
Wél e T = :
(1) 9 (a) 4R (b) (2) FA (b) 3 (0)
(3) F (b) 4)  (a), (b) ¥R ()
50. freAfoiEd & § g ygush % RO 9a 1 HET & gl § 2
(1) ISR (2) UM (3) H 4) SSH

eoo | MUV EAE

—
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51. Assertion (A) : People population control measures do not necessarily help in checking
environmental degradation.

Reason (R) : The relationship between population growth and environmental
degradation is rather complex.

Choose the correct answer from the following :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A). | .
(3) (A) is true but (R) is false. -f;
(4) (A) is false but (R) is true. [ f

52.  Which of the following phenomena is not a natural hazard ? -*.

(1)  Wildfire (2) Lightning |
*
(3) Landslide 4) ﬁimieal contamination

| I
f |

53. As part of National Climate Change Policy, India% a%bvernment is planning to raise the

installed capacity of renewable energy by the year 2080 to :
(1) 175 GW (2) 200 GWy (3) 25‘0 cw " (4) 350 GW
!
</ '
54. At present, in terms of per capita energy consumption (kWh/year), identify the correct
sequence. -

(1) Brazil > Russia > China > India (2) Russia > China > India > Brazil
(3) Russia > China> Brazil > India (4) China > Russia > Brazil > India

55. Which of the following are the objectives of Rashtriya Uchchatar Shiksha Abhiyan
(RUSA) ?

4 4
( (a) To improv the overall quality of state institutions.

(b) To ensure adequate availability of quality faculty.
()" To create Iilew institutions through upgradation of existing autonomous colleges.
(d)lk To downgrade universities with poor infrastructure into autonomous colleges.
Seleg't the correct answer from the codes given below :
(1) @, (b), (© and (d) (2) (a), (b) and (c)
() (@) (©) and (d) (4) (a), (b) and (d)

oo |[HIANLD AR 2
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51. 3RIReA (A): SEE M0 & 3UEl 9 AHar ®9 § qHER0E g 1 Ush H HEg @l fHerd]
g

ek (R): STEE gfg SR TR g8 & e T Ty Sffed § |
freAfafed & 9@ W &1 =999 HI

(1) (A) 3 (R) I & € 3R (R), (A) FT TE TEHF T |

(2) (A) ¥R (R) S & €, T (R), (A) FT T TEH0 T

(3) (A)FF & Y (R) FA & { s
(4)

2

(A) 3HHA 8, TG (R) T & f

52. frefafad # @ ®F-9 9o T Thfas @ad &8 © 2
1) o) fage wim |
(3) YEEed (4) ?i'I'H'I'qﬁEH Hq'sm

53. T WeraTg UEdd i 9w % w9 §, wm%ﬁ,ﬂﬁzowwﬁmﬁaﬁaﬁwﬁa
&THT h1 el e oG 1 TSl § 2

(1) 175 GW (2) 200 GWH 4 (3) 25fo GW (4) 350 GW
.ﬂ{{ '
54, wdaT i, W S S @ (R e e 3 wed § wh A vea Fi)
1) orsid > &9 > = > 9rd (2) ®F > > 9RA > drSia
3) W>ﬂﬁ?>m€hﬂ>?ﬁa (4) = > w9 > Fweid > 9Rd

55. W S gl A (TR TE.T) o Fefafed § 9 #n e 2
/(@) WHHH Elﬁuw\mmﬁgul{ HEAT |
(b)  T[UTEITYUl & ﬁwﬁwgﬁrﬁaﬁm|
(c) _ TCHM &I HRlaemerdl o e/ o HILAH ¥ g eATT giord HT |
(o] i ST Al A T T § s

e few T g H § W IR F T FiC
1) @ ) (© 3R (@) 2  (a), (b) ¥R (0)
(3) (a) () ¥R (d) (4)  (a), (b) 3R (d)
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56. The grounds on which discrimination in admission to educational institutions is constitutionally
prohibited are :

(a) Religion

(b) Sex

(c) Place of birth
(d) Nationality

Select the correct answer from the codes given below :

(1) (b), (c) and (d) (2) (@) (b) and (c) y
(3) (a) (b) and (d) 4) (@), (b), (c) and (d) f
{ r
57. Which of the following statements are correct about Lok Sabha ? , r
(a)  The Constitution puts a limit on the size of the Lok Sabha. . r

(b) The size and shape of the Parliamentary Constituencies is detegrmmed by the Election

Commission. >
(c)  First - past - the Post electoral system is ;éﬁ;)wed. |
(d) The Speaker of Lok Sabha does not hax)'re a casting y"ote in case of an equality of votes.

Select the correct answer from the codes glven belo

(1) (@) and () wgd
(3) (@) (¢) and (d) " (4) (a) ( ) ((C) amd'( )
%
58. Public Order as an item in the Cﬁn&tqtutlon figures in :
(1)  the Union List h - (2)  the State List
(3) the Concurrent List (4) the Residuary Powers

59. The term of office of ihe Afivocate General of a State is :

(1) 4 years

(2) = 5 years« 4
(8) 6 years or 65 years of age whichever is earlier
{ (4) not fixed '

60. Which among the following States has the highest number of seats in the Lok Sabha ?
(1) Maharashtra (2) Rajasthan (3) Tamil Nadu (4) West Bengal

\

*_l' -00o0-
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56. Srerforer Heenel O yawr # foha el W fRT S 91t geTdTa o1 Haunfaes w9 9 iy feam g
(a) v
(b) fefm
(c) S
(d) T
e feq T e H @ W SR BT T HIC
(1) (b), () 3R (d) 2 (), (b) ¥R (o) /
(3) (a), (b) 3 (d) 4) (@), (b), () ¥ (d) ( y-

57. % 991 & Gy ¥ fefafad § 9 #F-9 s g8 § 2
(a) Wfaem § ol w1 ¥ vl # ven # dw W W
(b) Www%wmmﬁwwéﬂmﬁﬁﬁm%.
(©) tﬁéwaiﬂwﬁaﬁmwﬁrw@w{f
(d) nﬁ%wwﬁaﬁfwﬁrﬁ@wmwa%wmmﬁ@m%l

A3 frw Mo e § @ W I T H \

1) (@3 (© @ (), <b>d4<>

(6) (@) () 3 (d) LW @GR
58. #ﬁwﬁwm%mﬁwﬁ#ﬁ%ﬁﬁmﬁaﬁ%?

(1w A - (2) wATHH

(3) wHed g H (4) orarTe vl §

i.
59. qmm%ﬂ@fmwm@m%:
1) 49d

(2 s | i
( (3) 6@ aw%aﬁaﬁ 3 7 ot wEd |
@) fawifa 7 .%
60. ﬁﬁwwéammﬁaﬁwmwﬁﬁmwﬁw%?
(1) g TS (2) TSEIH (3) dfwerTg (4) feeH ST
- -00o0-
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